Tema ypoka:

Ckopocmb,
epemMs,

paccmosiHue.
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PaBeHcTBa
180:3=60
90*4=320

120+280=400
600-370=230
125*0=125
360:3=120
170*4=680
60*5=350
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[[aHCc XpucTtmnaH AHaepceH
1805-1875 1T




1 km/y, 1 MmuH, 1 KM,
1m, 1 M/MuH, 1c,

10m, 14, 1M/c, 1 cm



CunbHbIN BETEP 3a 7/ CeKyHA
npeogorieBaeT paccTosaAHue
126 M, a yparaHHbIA 3a 3TO
Xe Bpema 175 M. CKOpOCTb
Kakoro BeTpa bosblle N Ha
CKONbKO?




CKOpPOCTb N10AKWU, NMbIBYLLEN MO
TEYEHUIO, D KM/Y, @ CKOPOCTb
Te4YeHnsa pekn 2 Km/Y. Kakoe
paccTosAHUE NPEeoJoneeT
rogka 3a 3 yaca?
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